E
5.6 - Inverse of a Function

Warmup - Find the inverse and the inverse’s 1ot
domain and range
— X
L. f(x) = f—l(x): x#0; y# -3
3+x x
2. ) = — =25 3 y £ o2
xX+2 x—3 Y
ﬂ‘ 2x ) |
3. — —1 - X . = 1
f(x) 3y — 1 f (.X)—3x_2, x;é3, Y7é3
3x+4 x4 4 3 ;
4. = RV | 3 3
f(X) 2)(:-3 f (x)_zx_:s’x;éz’ )’5&2
2x +3 —2x + 3
Sf(x)= f—l(x)z : x#z) y#_z

xX+2 X —




7.1 - Inverse Variation

o 2 of 13
Direct and Inverse Variation °
y:mx-|—[9 y:kx Find x wheny = 20
y=2x—-75 “y varies directly as x” 20 = %x
y =12 when x =15 2.20=ix.2
12 = k(15) 4 >4
R =12 _ 42 25 =x

15 5




7.1 - Inverse Variation

. T 3 of 13
Direct and Inverse Variation
y:mx-|—b y:kx Find x wheny = 20
y=2x—-75 “y varies directly as x” 20 = %x
=12 when x =15
y % 0= 2x. %
12 = k(15) >
_ 12 _ 4 25 =x
k= 15 5
1) y varies directly as x 2) y varies directly as x
andy =12 whenx =38 andy =10 when x =14
Find X, wheny =16 Find y, when x = 21
k=2 X == k=2 y =15
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7.1 - Inverse Variation

. 1ati 4 of 13
Direct and Inverse Variation °
k
ST Find x when y = 36
“y varies inversely as x” 36 = %
) = __1
Y—3kWhenx_4 r= 2
3=—
= 1
k=12
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7.1 - Inverse Variation

- T 50of13
Direct and Inverse Variation
k
y=-= Find x when y = 36
t 12
“y varies inversely as x” 36 =—
= = 2 _1
y—3kwhenx_4 X=—===
3=—
- 4
k=12
1) y varies inversely as x 2) y varies inversely as x
andy =2 when x = 8 and y = = when x = 2

3

Find x, wheny = 8 Find y, when x = 6

k=16 x=2 L4 2
=3 Y=73




7.2 - Graphing Rational Functions
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1
fx) =— fx) =

X X —

+ 3




7.2 - Graphing Rational Functions

f1
Graph the functions rotts

x+1
-2 2. = +3 3. =
x+3 U —x+1 1) x—1

- \ ﬁJ L
\M"’/ﬁ\\

1. f(x) = +3




7.2 - Graphing Rational Functions

f1
Graph the functions oot

1 1
fo == f) =

X

e \




Circles in the
Coordinate Plane
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Circles Iin the Coordinate Plane

Standard Equation for a Circle 9 of 13

Standard Equation for a Circle

r*=(x=hy"+(y-ky

Distance Formula
d= (X~ %)+ (), — %)’

l

Substitution from diagram

r=(x=hy +(y—ky

Square each side

r’ =(x—hy’ +(y—ky’



‘ Circles in the Coordinate Plane

Find the equation of the circle 10 of 13
l.r=3, C(3,— 4) x=3)2+@u+4)?=9
2. r=24/3, C(=2, 3) x+2P2+@-37*=12

-

3. 1 =52, €0, - 5) X2+ (y+5)%> =50
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Circles Iin the Coordinate Plane

Find the radius and center 11 of 13

x?+y2-12x—16y+ 84 =0
x?—12x+y* - 16y = — 84

(x? — 12x +36) + (> — 16y + 64) = — 84 + 100
(x—6) +(y—=8)7°=16 r=4, C(6, 8)

1. x> +y>—18x—18y+53=0 r=1+/109, C(9, 9)

2. x*+y*—4x =09 r=1/13, C(2, 0)




‘ Circles in the Coordinate Plane

Find the equation of the circle with center C(2,4) 120f13
and the point (6, -3) on the circle.

(x=2)*+(y—4)° =65




Circles Iin the Coordinate Plane

Graph the circle. /1@@4

1

6

-8
1

9=(+37+(-2)7 L =1+ (+27=49 &j

eqi 4 “
2. 25=(x—272+y’ //\

-2 3. 6=(x+1)2+(y—1)2—3ﬁ\

-6




